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Continuing in yesterday’s packet…
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Homework 10-26



 

Simplify and state restrictions
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Name: __________________________________   Date: ________ 
PCH: Decomposition Practice     Ms. Loughran 
 
 
 
 

1. If    g(x) = −9x + 3,  find f (x) so that (g ! f )(x) = −9x4 + 3.  
 
 
 
 
 
 
 
 
 

2. If    g(x) = 3x,  find f (x) so that (g ! f )(x) = 3x2 + 3.   
 
 
 
 
 
 
 
 
 

3. If    f (x) = x2 +1,  find g(x) so that ( f ! g)(x) = 4x2 − 4x + 2. 
 
 
 
 
 
 
 
 
 
4. If    f (x) = −3x + 7,  find g(x) so that ( f ! g)(x) = −6x2 + 31.  
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fix x 1

glx 2 1

gx 2
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Homework 10-29



5. If    f (x) = 2x −5,  find g(x) so that ( f ! g)(x) = 2x −1.  
 
 
 
 
 
 
 
 
 

6. If    f (x) = x2 + 7,  find g(x) so that ( f ! g)(x) = x2 − 6x +16. 
 
 
 
 
 
 
 
 
 

7. If    f (x) = x2 ,  find g(x) so that ( f ! g)(x) = 16x2 − 24x + 9.  
 
 
 
 
 
 
 
 
 

8. If    f (x) = x −8,  find g(x) so that ( f ! g)(x) = −4x − 6.  
 

glx x 2

glx x3

glx 4 3

g x 4 2


